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BODO

( Modem Indian Language )

^11 Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer in Bodo

1x7=7

(13)

(^) ifraft yiHiPl smiPT
#d^^TTrto?

(^) '^1^ ^F«n* wit WT
HMdin) 1^?

(^)
'alfe ^STPIT, RPfT
^<Kriw"1 ^Rpri^ 3Trenf?gf^r

% Wh^^hlT ^

A7/9 r Turn Over )



( 2 )

(^) ^ IFSn^to^ ^HihlH«il ^ f3^?

2. Ml^wpi to : 2x4=8

(^) ^ 'ter# 45^?

(Ki) 'feR' ^ ^ikf^ to R to% w
TR^?

(^) xsRHiPter ^ .^R^ "^HR ^
i^?

(^) ^irflT toroFT "toR r# ^jrrr^?

3. ^ ^§toft #Rt^ dil^Hi^ ^snto-^RR Ttom
: 5x3=15

(R) <:1M«llPl §HI^ R^,
^R? <£^1^1151 R^,

torrPtiR? w R^,
• il '̂aD^ldR

to#R^#Eiki

(^) WrPR"fsRKR WRI?—
RC1^ RTRI^ RR^'tRRT?I
R4^^^—RRR^RRRRRI

RRR^RRRRRI

(tx) 5|g^ 31T F^q^sTl rVr R^^RR,
3TR, ^ito l^l^idKdl RT
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( 3 )

^ I^R-^nI;
wr\

(^) 3KR^3^ SRqjRft

5i<ni5-5iw>i§ i^R^pPen^

^ivRt wi^!^%nil I

4. *i\m^ #TPT ^rfet -^li^qr te :
10x3=30

(^) "#i%^Hic<P^ wpn
% ^3^ ^akf^ ^ ^iRFT

^^5n?PiftqT mii
^^ciHi^ i^i 2+8=10

T|^

"«m3T^ W,' 1^" IFSiPM ^Tftl^ «n^
hi^iRR HMHMfi ^ ^ ^^<=ni
f^l 10

(^) 'l^«<WlR' Pt«IWlR 3TRt
^? ^ritM ^ikf^ "RT 1^

3Tld ^ 1^ ^sRn# ^M>NM eIRT ^|c«H I
2+8=10

isRiRR wit

^? 2+8=10
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( 4 )

(n) %
IsRn^ fti^lJllR TTT ^N^IIR ^<4dkl

10

*l«HiPl o-^i^iiq Xd-^i^PlR^i in tor
3Tnt 1^ 8IF3FT ^ ^ gMKHHI^P) ^T?n ^

leRI 10

★ ★ ★
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